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line 1-26 00000000
line 27-39 0000 ()

#define ORDER 12 OO0 OO OOOODO

[FFxFFRRRRx Constant Value /

double Troffset 0.008; /*Transmitted light offset*/0 0000000000 0O0O0O0ODO VIO
double Trtrigger = 0.023; /*Trigger threshold by Tr*/0 0000000000000 O0O([V]O
double Trcounter = 0.030; /*Lock judgement counter threshold by Tr*/
000o0o00ooOoO00ooDoOoooooooooooogooooogooopvo

double fgbefore = 2.25; /*filter gain before lock*/0 [ [ [0 [ feedback( [0 [0 01 [
double fgafter = 0.6; /*filter gain after lock*/0 [ O O O [ feedbackl [ O [ [
/ /

double u[ORDER/2][2]; /* intermidiate buffer */
O00o00o0oO0ooOooOo0oOooOoUoUoUoOoOooooo
gooo0o0oo0obooboobOobOooobOobDoooooboooboobooboo
int LC = 0; /* counter for lock signal */
go000o0000bOO0obOO0obOO0obOOooDoooDoobOobOobDOobOoDOoDooDooD

line 40-650 0 00000000
line 66-73 OOOOOOOO
line 74-100 mainCl (1 )

void main(void)

/*define variables*/
int k,m;

/*program*/
/*buffer clear*/
for (m=0; m<ORDER/2; m++)
for (k=0; k<2; k++)

{
u[m][k] = 0.0;
}

godobbooobobooooboooobooboooo
gooodooooooboooooooon
gooooooooood

*(unsigned volatile int *)EMIF_CE2 = 0x0120C422; /* CE2 Bus timming control */

enableSpecificINT(4); /* enable INT4(External INT) */

enableNMI(); /* enable NMI(Non Maskable Interrupt)*/

enableGlobal INT(); /* set GIE(Global Interrupt Enable) */
for (53)

/* Keep waiting for TimerO Interrupt */

Us5 0o0o0boogoao

11




linel02-12600C 001 [0
interrupt void int4(void) DO O 0OO0O0O0OOO0OO0O

/*define variables*/0 00000000000
double SI, G, Tr, Tg, un, cal;

int m;

short S10, GO, TrO, So, DAl, DA2, DA3;

gow/oo™/'00000000000000O0O0ODODO
gooooooooooboooooooooooooa
/* clock_t start;
clock_t overhead;
clock_t elapsed;
start = clock();
overhead = clock() - start;
start = clock();
*/

ADDO00OO00OoOoOoooooooo
S1I0 = *( volatile short *)DSKIF_ADO; /*Signal Input*/ O O0O0O0O0OO00O0O0O0OO0O
// LSO = *( volatile short *)DSKIF_AD1; /*Locked sign*/0 00000
GO = *( volatile short *)DSKIF_AD2; /*Gain for feedback*/ feedbackD 0 0 OO0 OOOOOOOO
Tr0 = *( volatile short *)DSKIF_AD3; /*Transmitted light*/0 000000000
ooooooooooooooooo

SI = (double)SI0; /*modified Signal Input*/
G = (double)GO; /*modified Gain for feedback*/
Tr = (double)Tr0*3.051757e-5 + Troffset; /*modified Trs. light original0.015*/

gbobooboogoooooovoooooooooboboobUobooooooboooooo
DA3 = (short)(Tr * 32678.) ; /*Trans cal. light monitor*/
000000000000 00000000000DbAOch30 00000 oooon

e 0booogobooo

linel27-1320 0000 0

/****************Gain value modify (G _> O<G<1)*************/

JoooooooilvOdgeindoO10000000DOOOO
ifGoO)oooooooooooooonon
G =0.;
else00000000OGOIong0O00OOCO0ODOOOOO-100O00O0ODOO
G = G*4.8828125e-4;

70000000000
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linel33-1510 0000000000
[RFFFFS KT IFFRFFKT | ger setti ng [Tg:Tr i ger] FkkdK kI KKK FKKIHK [
if (Tr > Trtrigger) DO OO0 O0OO0OO0OOOOOOOOOOOOOOOOOO0OTg=10000

Tg=1.;
else
Tg = 0.;

DA2 = ( short)Tg * 8192 + (short)LC ; /*Triger and LC monitor*/
000ch20000000000000D0000DO000DOO0DODOD00DODOOODOOODOOODOO
oooooooooo
/****************Lock judgement [LC=LOCk Counter]***********/
00000o00ooO0o00ooO0o0ooOoooUoOOoOooooOoO

if (Tr > Trcounter)

{
if (LC < 1000) /*counter > 5msec*/ O [J [ [ 5msecl] [J [J
LC++;
else
LC = 1000;
}
else

LIC=0;, ODOOODOOOODOOOODOOODOOO

Ug& dooboooobooooboonog

linel52-1790 0 00000
[rrxFFSSRRRkkRxxError signal calculation /
goobobooobobooobbooo

if (LC < 1000)/*****Lock Before*****/(0 1[0 [J

{

cal

= _rcpdp(Tr)*0.1; /*Normalization function*/0 0000000000
SIl=Sl*cal *Tg; O0O0OO0OO0OOOOOOOOOOOOOOOOOOOOO
DAL = ( short)(S1*0.1) ;0chi0 000 0000000000000 0000000
for (m=0; m<ORDER/2-1; m++)O O 00
{

un = am[m][0]*u[m][0] + am[m][1]*u[m][1] + SI;

SI = bm[m][0]*un + bm[m][1]*u[m]1[0] + bm[m][2]*u[m]1[1];

u[m][1] = u[m][O]; /* shift of data */

u[m][0] = un; /* shift of data */

}
SI = S1*5.094971566e-006*fgbefore;

}

else/*****Lock After******/0 000000
goooo0oObooOoO0oDboOoOobooooooooooOoooo
ooboooooboooooooooooobooooooo

DALl = ( short)(S1*0.1) ;
for (m=0; m<ORDER/2; m++)
{
un = cm[m][O0]*u[m][0] + cm[m][1]*u[m][1] + SI;
SI = dm[m][0]*un + dm[m][1]*u[m]1[0] + dm[m][2]*u[m]1[1];
u[m][1] = u[m][O]; /* shift of data */
u[m][0] = un; /* shift of data */

}
SI = S1*4.216521791e-006*fgafter;

U9 obooboooooaon
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linelg8o-1860 000 OO OOODO

pACO D0 DO0U0DOO0ODO0ODODODODODODUOODOO0ODOODODODODODODODOO
0000oo0o0oo0o0oooUoooooooo
-0000000doubleD 00 O000OO0ODADODOODOODOIongDOODODOOODOOO
00000o0o0ooOoooooooooo
[FFFxRRIARRxRR*ROver Flow problem /
Sl= SI*G;
if(S1>=32767) So = 32767;
else if (S1<-32768) S0=-32768;
else So=(short)Sl;

g1 0obooobooboobod

linel87-1960 0000000

*( unsigned volatile short *)DSKIF_DAO = So; /*Signal Output*/0 feedbackl] []

*( unsigned volatile short *)DSKIF_DAl = DAl; /*Normalized and triggerd error Output*/
oooooOoo0oooO00oOo0o0ooOOo0oOOO0OO0OoOO0OOOo0DOooOOoODoOOOOooDODOOn

*( unsigned volatile short *)DSKIF_DA2 = DA2; /*Triger and LC monitor Output*/
o0o00oo0o0oo0o0ooOo0oo0oooooooooOooooooooooooo

*( unsigned volatile short *)DSKIF_DA3 = DA3; /*Offsetted transmitted light Output*/
000000000000 0oOo0o0ooOoooOOooooOoOoooOOoooooOn
gooboboooboboo0obbboooobbooooboobo
// elapsed = clock() - start - overhead;
// printf("Time = %ld cycles¥n", (long)elapsed);
// printf("Time = %Id %e cycles¥n"™, (long)elapsed, (double)elapsed/CLOCKS PER_SEC);

ypoooooooooooooo

linel97-2230 00000000

o1l 0000000
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